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2.

th2 "o A oABCD + Attte]Eo|tt. AABC = 80cm? , ADOC =

30cm? ¥ W], AOBC 9] Hol]=?

A D

@ 20cm? @ 30cm? @ 40cm?

@ 50cm? ® 60cm?



A D

B C

® «CDB, BC, SSS @ /CDB, BD, SSS
® /BCD, BC, ASA @ /,CDB, BD, ASA

® /DBC, DB, ASA
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TR 1 2L A2t ABC o WY
7} 9 99] HeHI?

D 1:3 @ 2:3 ® 2:5
@ 5:9 ® 5:11
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6. FPAHF ABCD oA EF//BDoltt. AABE = 20cm? ¥ uf,
AAFD ©] B o] & Fstofet,

A D
F
B E C
@ 16cm? @ 18cm? @ 20cm?

@ 22cm? ® 24cm?



7. T2 oA AABCcoaADFE©|tE, DES} DF Q] ZolE ¢, bE
ARERE Ao 2 el 227 (F, tA=1/D, /B=/F)

— b — a
® DE = i(cm), DF = §(cm)
@ DE = b(cm), DF = g(cm)
® DE = g(cm), DF = a(cm)
@ DE = b(cm), DF = a(cm)

® DE = 2b(cm), DF = 2a(cm)



8.

o2 1389 #A2+E ABCD o4 AB = 6cm, BC = 8cm, B
5cm olth. PQ 7F tiZHd BD & S ol5 R ©, PQ o] &
“FobHA?
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@ 7.5cm ® 8cm

@ T7cm

® 9cm

@ 8.5cm



